Y

w7 ITVI—I\

SA,SAE.SARYU—X

17UJ7“U9 IR IN—IIVI-H. I TV
RINE

ATVIIV G-V

IVv—I1IVI—f

SA—(S |10

13

(SAE |-(20[10

b ¢

IF7VY—UR

!

AlAl1]S
bbb

A|C|1]S]
bdbo

(SAR—(14 15 1|S|—(K4)
bdd
DF R b Y- DR U N
\|EEE| AN —IEL A B—A)7/Z2 (EXb) @'%Esi@ﬁ‘,m -
= - v |ELE| MFEHL
S HX N — LT E B B—A)7¢X ($775) - - —
= AT > X2 MiEF
C ZHAVT4X K4 4 (4-M5MS)
@4%+4% (mm) D ZHZERA) T4 R
®Z hO—% (mm) ®REDTR
1 Z %
@REHK 2 wmoh W
A EER
B 7+ O7HEX @By K+ vy TORE
C 770 MERER S FrvvThL
C | *vv 7
FI3v
AbwINEHFY b~ A1 FARILY
(14[SA[S)-(N] (1612 |SA)—(HIN)
D @ @ 3
O544Z (mm) O%+4Z (mm)
@Ay K¥x+vy THE @z +a—7%7 (mm)
S vy 7hHUH
C vy A @ by IEREDHE
EILE| B L
— . N X by ISEERERT
RAER75Y 75
(12

1)

| 1! |SAJ=(A

®4+4% (mm)
@z rO—% (mm)

876




avorIVI—I\

f1x

SAVU—X/AA. ACHALT

) . - . SA-0404 SA-0604 SA-0805 SA-1005 SA-1008 | SA-[11210 | SA-[11412
i = S = B OfI
AC1 | AC2 | AC1 | AC2 | AAT | AA2 | AAT | AA2 | AAT | AA2 | AAT | AA2 | ACT | AC2
Bz = i) =W T X
® IR X O -2 mm 5 4 5 5 8 10 12
BEABIRI 2IL¥— J 01 | 03| 01 | 03 [0.392|0.686|0.686| 0.98 | 0.98 | 1.47 | 1.96 | 2.45 | 3.92 | 5.88
B X &£ E E kg 1 3 1 3 3 5 5 8 7 10 | 15 | 30 | 15 | 20
B K B R B E m/s 1 1 1 1 1 1 15
12ELY OBARNI 2V ¥ - Jimin 45 | 135 | 45 | 225 |17.64|23.22 41.16 58.8 98 176.4
B K & B # E | cycle/min 45 45 45 60 60 60 60
ff A B E & H c —5~70 —10~70
27> | EybhEE N 1.96 3.13 3.13 49 3.52
"R N  Emes N 3.04 5.88 5.88 9.8 8.23
i it W E N 980 1470 1470 2940 3626
=1 B g 2.4 4.1 10 10 13 23 50
. . %L — — O O O O O
X by =0
1+ - - - - - - O
. . |&L] S - - O O O O @)
Oy K¥x+vy7
T+ C O O O O O O O
X SH — — 08SAS-N 10SAS-N 12SAS-N 14SAS-N
A | ZbyXEF YR
7 cH - — 08SAC-N 10SAC-N 12SAC-N 14SAC-N
v .
a3 |[RAER7474 | SH — — 0805SA-A | 1005SA-A | 1008SA-A | 1210SA-A | 1412SA-A
7 | 2ty FfAILE | CA — — — — — 1210SA-HN | 1410SA-HN
SAVY—X/BBYAT
) . = SA-1008 | SA-[11210 | SA-[11410 | SA-[ 11612 | SA-[ 12016 | SA-[12530 | SA-[12540 | SA-[ 12725
i =W & 5 B
BB1 BB1 BB1 BB1 BB1 BB1 BB1 BB1
] B il =® 70O HEEX
31 S S N = R mm 8 10 10 12 16 30 40 25
EABRIRI 2L — J 1.47 2.94 3.92 9.8 29.4 49 63.7 79.4
B XK & i &€ B kg 10 30 30 50 300 400 500 650
B A H ® X E m/s 1 15 15 1 1 1 1 1
19ELY OBAREI RV E - Jimin 58.8 98 176 235.2 343 490 637 539
B K & A $# & | cyce/min 60 60 60 60 60 60 60 60
f A B E & H C —10~70
ZFY L5 | EyhE N 2.94 4.9 4.51 5.39 11.95 16.56 23.81 16.17
7 ® H | EmeE N 5.88 9.8 9.8 14.7 18.03 33.12 71.44 27.24
iV} i W E N 1274 2940 3626 5292 9800 9300 9300 13720
=) B g 225 40 58 97 156 335 393 357
. . &L O O O O O O O O
AV SN A |
1F — O O O O O O O
L] S O O O O O O - O
Oy ¥y v7
| C O O O O O O O O
by EF b SH 10SAS-N | 12SAS-A | 14SAS-N | 16SAS-N | 20SAS-N | 25SAS-N — 27SAS-N
v v
;t, cA 10SAC-N | 12SAC-N | 14SAC-N | 16SAC-N | 20SAC-N | 25SAC-N | 25SAC-N4 | 27SAC-N
Y | REERT7474 | SH 1008SA-A | 1210SA-A | 1410SA-A | 1612SA-A | 2016SA-A | 2530SA-A — 2725SA-A
3
> R — — — 1612SA-H | 2016SA-H | 2530SA-H — 2725SA-H
2Ly FftAIE | CH
— 1210SA-HN|1410SA-HN|1612SA-HN |2016SA-HN|2530SA-HN — 2725SA-HN

877



YavorIV—N\

f1tx

SAYU—=X/CCHALT

, . o . SA-1008 SA-[]1210 SA-[]1410 SA-[]1612 SA-[]2016 SA-[]2530
i = % = B
CC1 CC1 CC1 CC1 CC1 CC1
Bl B b1 =W 7+ 8 TERER
%I X b O -7 mm 8 10 10 12 16 30
BARIINI XILF — J 1.76 4.9 5.88 9.8 29.4 49
" X £ i B 2 kg 25 4 45 10 120 150
B X @ ® & E m/s 3 3 3 3 3 3
19 EE Y ORARNI 2V ¥ - J/min 58.8 98 147 235 343 490
B X £ A $ E | cycle/min 60 60 60 60 60 60
= A &2 K & B T —10~70
27Ty 5 oy NEE N 2.94 4.9 451 5.39 11.95 16.56
7 B A £ #E B N 5.88 9.8 9.8 14.7 18.03 33.12
H 1 [ B N 1274 2940 3626 5292 9800 9800
1 £ g 225 40 58 97 156 335
. . &L O O O O O O
4 X b =0
1+ — O O O O O
N . |&L| S O O O O O O
Oy RKx+vv7
+| C O O O O O O
! SH 10SAS-N 12SAS-N 14SAS-N 16SAS-N 20SAS-N 25SAS-N
Ay INEF Y
775-., CH 10SAC-N 12SAC-N 14SAC-N 16SAC-N 20SAC-N 25SAC-N
Y | RBER7574 | SH 1008SA-A 1210SA-A 1410SA-A 1612SA-A 2016SA-A 2530SA-A
3
p . - - — 1612SA-H 2016SA-H 2530SA-H
7 | =2y FHFLS | CR
— 1210SA-HN 1410SA-HN 1612SA-HN 2016SA-HN 2530SA-HN
. o SA-[ 12540 SA-[ 12725 SA-[ 13035 SA-[ 13650 SA-[ 14250 SA-[ 14280
i o & 5 B
CCi1 CCi1 CC1 CC1 CCi1 CCi1
Ez B il = 7+ A TERER
g X O -7 mm 40 25 35 50 50 80
BARIINI XIL¥— J 63.7 79.4 196 392 441 720
B K 5 @ & E kg 200 300 700 1400 390 640
B XK R B E m/s 3 3 3 3 3 3
19 EY Y DRARRI 2V — J/min 637 539 1176 2352 2744 4410
& K 8 B 8 E | cycle/min 60 60 30 30 10 6
£ A & E & H T —10~70
27y 5 v bEE N 23.81 16.17 19.6 22.54 245 245
g2 ® A £ #® B N 71.44 27.24 441 68.6 83.3 98
Y 1F (] E N 9800 13720 33320 47040 54057 54057
=1 = g 393 357 640 1120 1300 1750
. . &L O O O O O O
4 XM =N
1+ O O — — — —
BL| S — O O O — —
Oy RFfxvv7S
| C O O O O O O
5 SH - 27SAS-N 30SAS-N 36SAS-N — —
+ AbyINBF VB
5 CH 25SAC-N4 27SAC-N 30SAC-N 36SAC-N — —
Y | RAERT7474 | SH — 2725SA-A 3035SA-A 3650SA-A — —
3
: — 2725SA-H — — — —
7| =2y FRLS | CH
— 2725SA-HN — — — —

878



f1x

SAYU—=X/CD&A T

avorIVI—I\

, . - . SA-1008 SA-[11210 SA-[]1410 SA-[]1612 SA-[]2016 SA-[12530
i =® % = B
CD1 CD1 CD1 CD1 CD1 CD1
A = il x 7F 0O 7Rz
%y X b A - 7 mm 8 10 10 12 16 30
BEAXAR®KINI xJL ¥ — J 1.76 4.9 5.88 9.8 29.4 49
" K 5 i &8 2 kg 10 30 35 50 200 300
®E K 2 & E m/s 2 2 2 2 2 2
19EEY) ORARNI XV ¥ - J/min 58.8 98 147 235.2 343 490
B K & B # E | cycle/min 60 60 60 60 60 60
£ A & E & H T —10~70
2T T v B N 2.94 4.9 4.51 5.39 11.95 16.56
7 R H E & B N 5.88 9.8 9.8 14.7 18.03 33.12
b4 1+ [ E N 1274 2940 3626 5292 9800 9800
B B g 225 40 58 97 156 335
. . %L O O O O O O
4 X by =0
1+ — O O O O O
N . |&L] S O O O O O O
Oy K¥x+vy7
T+ C O O O O O O
R SH 10SAS-N 12SAS-N 14SAS-N 16SAS-N 20SAS-N 25SAS-N
+ AbyIXAF R
- CH 10SAC-N 12SAC-N 14SAC-N 16SAC-N 20SAC-N 25SAC-N
Y | REER7474 | SH 1008SA-A 1210SA-A 1410SA-A 1612SA-A 2016SA-A 2530SA-A
3
p . — — — 1612SA-H 2016SA-H 2530SA-H
7| 21y FHALS | CH
— 1210SA-HN 1410SA-HN 1612SA-HN 2016SA-HN 2530SA-HN
, . - SA-[ 12540 SA-[ 12725 SA-3035 SA-3650 SA-4250 SA-4280
yi2 =x o = B OfI
CD1 CD1 CD1 CD1 CD1 CD1
| B il =® 70O
kW X b ao -7 mm 40 25 35 50 50 80
BARINI XJLF¥ — J 63.7 79.38 196 392 441 720
®E XK 5 i &8 E kg 350 450 1300 2700 3500 5500
" K & ® & E m/s 2 2 2 2 2 2
13EL Y ORARNI RV — J/min 637 539 1176 2352 2744 4410
B K & B 8B/ E | cycle/min 60 60 30 30 10 60
£ A & B & H C —10~70
27y g AN N 23.81 16.17 19.6 22.54 245 245
g B 75 K i B N 71.44 27.24 441 68.6 83.3 98
B 1F [z B N 9800 13720 33320 47040 54057 54057
=1 = g 393 357 640 1120 1300 1750
. . &L O O O O O O
X b =N
1F O O — — — -
BU| S — O O O — —
Oy ¥y v7
| C O O O O O O
. SH — 27SAS-N 30SAS-N 36SAS-N — —
Aby/INHF Y
;’o CH 25SAC-N4 27SAC-N 30SAC-N 36SAC-N — —
Y | RAER7474 | SH — 2725SA-A 3035SA-A 3650SA-A — —
3
: — 2725SA-H — - - -
7| 21y F RIS | CH
— 2725SA-HN — - - —

879



avoF7IVI—I\

f1Hx

SAEVY—X
®% X & B | B fI | SAE-2010 SAE-3020
i ¥ il =W BEER
%N X O -7 mm 10 20
BEARIII X)L ¥ — J 19.6 98
" X £ i B 2 kg 30 140
B K& ® & E m/s 2 2
= A B E & H T —10~70
2TV YT | EybME N 11.76 29.4
"R Hh | N 41.16 68.6
B m E N 13720 23520
1 B g 55 250
. . |&L] S — —
m D
| C O O
SARYU—X/ACHA T
% & B | B SAR 415
ACT AC2
Bl ® il = BEER
% X b O -7 mm 15
BARII 2L ¥ — J 11.76 19.6
" X £ i & = ke 40 70
B K& ® & E m/s 2 2
19HL Y ORKIRT 3V % - J/min 352.8 588
® K f BA # E | cycle/min 40 40
= B R E ® H C —10~70
ERAZEZSRERN MPa 2.9~4.9
i1 ] [z E N 7840
1 g g 535
Oy RK¥xvv7 kL] S © ©
F| C O O
s e
2 (BRERATS7S | SR =
7 | 2y FHRFILE | CR 1410SA-H
A c RNRNI KX — ERABNI RILEF—DI1/6RETIHERAL I,

1Y) DRKWINI %IV ¥ — EBBEERE20E10CHDIFEATT,

CHEEE S 3y VT T NERNRF IR EEEENVEETIEETT,
B2l X vy TELULEKEOADBETT,
s ALy FMHHRILED-HNIE, X by /NELTHFERTEET,

880



avorIVI—I\

AMYFIRILY

== Par
24w FiHiE AA Y FHEHRER
B @# B K v DC12~24 BERNERERM vy FERIPRE—DIGE
B W B % o@m H mA 100 T %
OFFHEHESE® mA 15T 1
HiF7 100mAES v LT R —
== I— g = |
REBE H7 16mARE Y 0.4LTF ol :
B OE OB K % Hz 500 = T
B B B E T 0~55
L e . %3“1‘3‘“ AREEE R v FEEFREBHE
m
IO %
[m]
_T_EI —E,
O #(+) 2 T
2 Yo ,
1 -
‘y -3
F = = T
%
4 O%(_) E1tE2Li|ﬂ%ETZf§ﬁﬁ<7’:éb‘o

881



v 7 TYV—I\

ARSI &
SA-0404AA SA-0604AA (B4 : mm)
FrvTEL/S FryTmL/S
N al u
i, 8| 8 HL:@E
M4x0. 5 ZmEnE7 M6x0. 75 _ —mEfEs
F v T17/C F v FH/C
R ‘ —_— A D
SA- 0805AAZ A1 7 (B4 : mm)
FrvSimL/S RAEER7 A 72/08055A-A
32
5 2 5 28 (16.5)
2 A5 4
L3 r f J_T r
- -
(12.7312,’: i I (16.2) '?*6_ 3 J_—"E{{!!w
M8 x0.75 ZEE M12X1 =y
W s AbwISABF b
FayIHIC v T BLA ey T
55 08SAS-N 08SAC-N
. H)- 3 ).o T
I == =3 - - (12.7)
10 15 11 \ M8x0.75
SA- T005AA (47 : mm)
Frv TS RAER7A7%/10055A-A
32
5, 22 5
3
Lamnd
¥
(153¢3{:{E
M10X 1 —E#E13
bl SEF R
Fyv T/C Frv7BELA  FryTEH
75 10SAS-N 10SAC-N
i —
‘%L + — H— o (15)
E_] | 16 13 N\ M10X1

882



~ “ "
avorPITV—N\
AR
SA-1008AA (B4 mm)
FrvTIEUL/S REBER”457%/1008SA-A
s 413 : 38 (25 _
T
(151)4:315 +H (zm)gt :: };I
M10X 1 ) —E13 l M6 15 %
- —EE19
ARvINEF Y
Fw71/C FryvIEUAR FrvIHH
10SAS-N 10SAC-N
7 8
| . .
: 5 & Q¢
1o 16 L13_‘ M10X 1
SA-1210AA (B4 * mm)
FvvTIEL/S RBER”?4Y74%/1210SA-A
60 48 (34)
10 43.5 10 E_E Jp—
p.I
P L HHHR
(16.2) 3.5 (243) #10
! ‘ LUy
Mizx1 =i AL M18><1.5/ —mEE21
AV FARILY
FryIf/C k) (3/1210SA-HN ’
8. 10 8 L3,
: N
by (13.8) —7%_7 o ' -
. J:1
$8 6 16 T -
b (19.6)_4 95| 19.5
2h0—2{ 10
AbwICAF vk

FvvIIEUA/12SAS-N Fv v ItH/12SAC-N

— -

m

il

4 -

M

1N T
i - ¢ (16.2)
- .. A_L
16 14 N\ Mi12x1

883



avoF7IVI—I\

ORI

SA-1412AC (B7 : mm)
FovTHL/S RABER7?SY 75/1412SA-A
75
2 58 53 (55)
6 12, e _ —E#E19
-ol
‘{ [\
(19.6) 3. 5% (27T7) @11 -n=>— @ ;
¥ _ 1JL‘ 5__4:'4 |
M14x1.5 —EE7 M22x1.5 n ZHEbE24
AV FFRILS
FvvI1/C ARwINE/1410SA-HN ”
8 12 8 9
=l Ll ]
by (148) —;s_f I; e
10 ¢9 17
T _L L] =
(19.6) 95| 195
Zro—2]| 12
AbvINAF vk
FvTIEURA/14SAS-N F+ v FTH/14SAC-N
Y - D (. N |
P n SRR - - (198)
] = D 6
Ji—l 20 17 \M14x1.5
SA-1008BB. SA-1008CC. SA-1008CD (B : mm)
RBER745 7%/1008SA-A
8 53.292 8.7 3 ‘ (38)
153 . 8.2
) T H‘_ B T ¥ | I
(14.2)?2.42‘:{ (21.9) ¢8
M10x1f —EE13 M16X 15
6.3 8
%6 .
AbvINEHF vk
FrvIEUA FrvIftH
10SAS-N 10SAC-N
. L. 4 T
T 14— (15)

25y == _L
_EJJ 16 Lﬁa M10X 1

884



ROARSTE

avorIVI—I\

SA-1210BB. SA-1210CC. SA-1210CD (B mm)
FvTiEL/S RBER74Y 7%5/1210SA-A
76
10 p 48 (50)
2 o, 55 —mEiE14 |
¥ ' I —
(15.2)1,3.5;:'.:&—— — (ziwo (. —
Mi2x1  / —Eig14 w* e
A1V FfRILSY
FvwvI4/C ARwIN1/1210SA-HN
8,10 21
i e B
|
¢,8 L (138) / ;, \\ ' ——
196) 95| 195
2to—210
AbwICAF vk
FowvIIEUA/12SAS-N v I{FH/12SAC-N
| — - —1* AN |
%—j‘f: T - —(_IEZ)
12 |16 ] L__\ M12X 1
SA-1410BB. SA-1410CC. SA-1410CD (%A 1 mm)
FrvTIEUL/S RBER74Y 745/1410SA-A
0 8058 ” 51 . (52) y
10 —EE19
6 B L
? *I:r ’ T : T i 1
(196) p35E—= - - (21.7) N r>— — e
! = T - j::ﬂ—u
mexas /N =@ 7 — QTBEEM
avzshl
W s A1V FRILY
FryI/C 2 i ¥d/1410SA-HN
21
8 10 8 9
6.5 7 N
g ] (148) ok —8‘5—; . ..
@10 ¢9 : Sy QS A :
T L & ) S
(19.6) 95| 195
2 ba—210
AbwICAF v
F v TIEUR/14SAS-N F v JFR/14S
P T — @
| U |
LEJ 20 \M14Xx 15

885



avoF7IVI—I\

FARST &
SA-1612BB. SA-1612CC. SA-1612CD (B : mm)
FrvTIEUL/S RABER7Y 745/1612SA-A
102
12 709 19.1 60 €9)
6.4 6 12, rl —EE19
(21.9) 5 - (21.7) ¢12 —+
T - L
| - _ | 7
M16x1.5 —EE19 M22x 1.5 Q\:Eﬁu
Oyshl
W s A1V FARILY
FrYIR/C Z ) ¥ /1612SA-HN
15 12 2
12
‘ l T-—. r:_. 11.5
a5 gres ol L T
Pt —91;5 19 i j_-
P I
(21.9) L1z [ata—z
5] 25

AhwINIEL/1612SA-H

M16X1.5

21
el o 1.5
r ' — —
(15.8) i 9'5‘12 /ﬂ_t t . —
/7 ' L )C:- _
(21.9) 2ha—7| 12i 25 J
AbvICEF vk
FvTIEUA/16SAS-N FvvF<tH/16SAC-N
r I T ] —— N
i i *\ﬁ:—* (21.9)
o= S _L
15 30 19

886




avorIVI—I\

AR
SA-2016BB. SA-2016CC. SA-2016CD (B4 mm)
FrwIIEL/S
10
16 76 18
8 4
T
(271.7) o= é\
F L/
M20X 1.5 QK —mEtE24 oy 7&&
FvvIf1/C
16 RBER74Y 7%/2016SA-A
14 68 (78)
16 10 —Eii524
¢1’8 4}17 ‘_.1
L A .
Tl
(37) ¢14 N i ;
r (-
M27X%X1.5 ZmEE32
OF #2 hy—nfiosmals 2AyFIHILS
ERMI0mMMECHYET b (/2016SA-HN

1
|

(18.3)

AN
|
fls:
H
I

T 2

9

)

(28)

AwINIEL/2016SA-H

(18.3)

I8
T
is
i

24 Wl_ | .
T —

i«
:

AbvINAHF v
FryIIEUA/20SAS-N  F+vI{tH/20SAC-N

/—=::= ﬂru—r—/‘_ . —T

(21.7)

30 47 ’ 24 M20% 1.5
I

887

T

m
I

L \




v o7 IVI—I\

RARSHE
SA-2530BB. SA-2530CC. SA-2530CD (BfI : mm)
FrwIIEL/S
155
30 110 15
]
@37 ¢8 — 1 ‘ﬁ‘
T
7 Bt
__M25X15 '\:ma;z_’ nrzBh
FvTf1/C RAER74Y 745 /2530SA-A
107.5 (104.5)
30 15 —EiE32
18 30
14
T — i \
$22 ¢20 (53.1) #16 - -
| | , _ ;
7\
M36X 1.5 —E&E46
AV FARILY

AwI\f1/2530SA-HN

8

Ai:
(20 8) 145 /H——L >_< r——
69_ T ) S
32) VL'IG 21 N
ZH:I—?‘ 30

AbwINIEL/2530SA-H
8 9
N
;ﬁ‘ﬁ'

(20.8) = =
145 m |
I H;:

(32) zm—aL 30 20 4

AbwICEHF v
FovIIEUR/255AS-N F v J{FH/25SAC-N
Y ‘ ) ~ I
- - i |
+ B ﬂ — ! - (a7)

20 32 ’ 32 M25 X 1.5
T

888



ayo7IVI—I\

AARSE
SA-2540BB. SA-2540CC. SA-2540CD (B : mm)
FvvIf1/C
200.5
29 a0 1165 15
10 8 7 10
] n i
e
(37) ¢22 *{ -
| —
| n

/ \/ \__/ R
M25% 1.5 \ —E1E32 S-L% TAN

AbwINEHF vk
F v I {FH/25SAC-N4
- -
5 - } . 37
50 32 M25 X 1.5

889



avoF7IVI—I\

AR &
SA-2725BB. SA-2725CC. SA-2725CD (B : mm)
FrvIIEUL/S
136
25 91 .20
10 —l 5
A
€x) iTJ ]
T
Fd \_§< \_/
M27 X 1.5 ZEME32 oyzhl
REER?4Y 745/27255A-A
97 (
FrvII/C 25 15 :;11)532
20 25
16 i ( -
| |
¢2t4 ¢122 (53.1) ¢16
14 f H
\ )
M36 X 1.5 —mEiE46
Ay FFik)LY

AbwIf1/2725SA-HN

il

AbwICEF v
F v TIERUA/27SAS-N

Fv v IIR/27SAC-N

—

T

55

T @ 30 #/ﬂs‘l— f’:h: -
k 2 qu— —7_{__ 25 32 5= T

@37

32

M27X%1.5

890




~

avo7ITVI—)\
RodRts%

SA-3035CC. SA-3035CD

(BAL © mm)
F+ v v IHEL/S - L] =
14 1 6
'_1 »c‘—ov
s )
(41.6) ; x
41.6) 10 . _—
=
l Fd L/
M30x1.5 —EiE36 oyshl
Fv v 7f1/C REBER>?4Y 745/3035SA-A o 128
3B 15 B —ER36
185 35 [
79 ] L)
r . | ﬁ —
#21 ¢25 (57.7) $18 - .
e L] T L 443 —
f L\ L/
MAOX 1.5 — &850
A MwvINHFwv b
v v IJIEURA/30SAS-N  F+ v J{FH/30SAC-N
Y k- . ;lﬁ,,: A T
[ . >_% [_[ - : . @ ~(41.6)
| ]
s SR e S\
38 58 % N M30x 15
SA-3650CC. SA-3650CD (84T : mm)
235
FryvITIEL/S 50 160 I
15 6
- 1
/ R ! ;
4
(53.1) ¢1z[L o
—Ti
/
M36 X 1.5 \ :Ems?/ avzhl
FvvI4/C RBER7Y 75/ 36508A-ﬁ:7 s
195 50 50 15 —EiEa
T -
T )
T | —
‘”3}3 #31 T (63.5) $20 I v/ I _
A SVIAV:: aVl MA5% 1.5 . \ :EmE_EE—J
FrvTIEUR/36SAS-N  FvvJ{tFH/36SAC-N }
%_: }zz
: - : ﬁ - : . ' (53.1)
——wﬂz L] >j=
y
a5 65 46 M36 X 1.5

891



avoF7IVI—I\

ORI

SA-4250CC. SA-4250CD (B4HL I mm)
Fv v Tf1/C
2125
19 50 120.5 23
10
()
TWE;—_—:‘E H
(66) 38 \
/ \_X\‘u
12 M42 X 1.5 —EIE60 oyzhl
SA-4280CC. SA-4280CD (BT mm)
Fv v I1/C
302.5
19 80 175 23.5ﬂ
15 I_1_0_’
() ()
(66) ¢38 S:{ /iﬁ -
/ \A\ _J
¢12 M42x 1.5 ZENE60 ovyshl

892



ROARST A

-~

/3y

o97TV—=I\

SAE-2010 (BfZ:mm)
F v J1/C
62.5
1 14 30.5 7
3 -
( T ) ! ==InIRIN
275) 916 - -
== ’JS— |
28 |
M20X 1.5 ZEE24
SAE-3020 (B2 mm)
107
25 18 58 6
5 14
(41.6) ¢28 | i
s12 |
M30X 1.5 ZE1E36

893



avoF7IVI—I\

ROART A

(BAL © mm)

SAR-1415AC
FvTIEL/S
93
15 735 . |as
5 ] M5 % 0.8
i
(wf)d’“?j::‘L : s |m!
M14X1.5 / —EE7
FvrvI1/C fHFf1/K4
8 15
6.5 ‘ 45 (17)
[ r_. 4
$10 ¢8 :E - 9.8
b 9y FHF / T

P4F1—TH

Z'f‘yfﬁfﬂ'\}b@"
AbwINfF/1410SA-HN
21
8 L8,
LN E S I 'T‘ —
. 85 1*7 i D =i
L y L ) _
(19.6) la | 20
2tn—2|1s
AbvICAHF v F v I{FTH/14SAC-N
FrvIIEUA/14SAS-N
Y- — Y- N T
e 1 -+ (19.6)
) - - N
Lﬁ_' 20 17 \M14x15

894





